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2) Choose the correct sentence:

1)
The matter has informed to to the police

2)
The matter was informed to the police

v 3)
The police were informed of the matter

4)
The police was informed of the matter

AT : The correct sentence is - the police were informed of the matter.
Inform verb 7T 513G active sentence 33 {0 T - inform - sb - of/ about sth .

@d4d : he informed the police of the matter. 5% 3 I passive IO A the
police &3 sub 3 facs z3 |



3) Choose the correct sentence -

v 1)
He was hanged for murder

2)
He has been hunged for murder

3)
He had been hunged for murder

4)
He have been hunged for murder

A : the correct sentence is - He was hanged for murder.
e (3 A "Hang' verb 7 past \3 past participle form = 'hanged' \32 W< 71
'for' preposition I 370<1R 'He was hanged for murder! N |
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74T : Diamond cuts Diamonds - A3 AGR™ FMfaP JfdP G|
Diamond cuts Diamonds - a3 proverb T 53 AT W X5 - AP qifeis G|
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23) The book 'Man and Superman' is written by-
1)
Lord Byron

2)
Charles Dickens



v 3)
Bernard Shaw

4)
Monika ALI

AT : The book "Man and Superman® is written by - - Bernard Shaw.

George Bernard Shaw ( 26 July 1856 - 2 November 1950), known at his
insistence simply as Bernard Shaw, was an Irish playwright, critic, polemicist
and political activist. His influence on Western theatre, culture and politics
extended from the 1880s to his death and beyond.

He wrote more than sixty plays, including major works such as Man and
Superman (1902), Pygmalion (1912) and Saint Joan (1923). With a range
incorporating both contemporary satire and historical allegory, Shaw
became the leading dramatist of his generation, and in 1925 was awarded
the Nobel Prize in Literature.

24) Which pair contains words opposed to each other?

1)
hope, dream

2)
False, fake

3)
Honesty, sincerity

v 4)
Innocence, experience

A : The pair contains words opposed to each other is - innocence,
experience.

innocence ™M WY ; fadizor, siketorl, fdeerol, fA]izoT, SR, WammoT, TP,
IR

experience *Ribd WY . Wges0l, ARG, #1F9, R, ANGGOl, TJed, GId, AT,
Res$ror, afowol & |

B2 innocence, experience <M 7o RoTaE |

25) 'Please, bring me a cup of tea' what kind of sentence is this?

v 1)



Imperative

2)
Assertive

3)
Optative

4)
Interrogative

A : Please bring me a cup of tea. The sentence is impreative.

ACIT IS 'Please’ =it 2-T TR IRV | AR @ 1T AT, Fgy, S, T
3OJTM ARPPT PR I imperative sentence @ | 5301 Wit WG imperative
sentence.

26) Which one is correct?
v 1)

Committee

2)
Resturant

3)
Leiutenant

4)
Descipline

AT ; ACIR 271G WP SR JE Committee R I1aTd SoP | T- O SERo |

27) Degree : Temperature-
1)

Fathom: volume

2)
Mass: energy

3)
Time: length



v 4)
Ounce: weight

A - Degree : Temperature - - - Ounce : Weight.

Temperature (ST9/H1A1) HI9RK 43P T2 degree, WK weight (\3Gd) FI9K Q3D o2
ounce |

28) A person leaves his or her country to settle in another country-

1)
Foreigner

2)
Traveler

v 3)
Emigrant

4)
Immigrant

I : The movement of people from one place to another with the intention
of settling, permanently in the new location is called migration. Migration
includes immigration and emigration. People coming into your country from
another country for the purpose of taking up residence is called immigration
and the people are called immigrants. The process in which a person leaves
his own country in order to settle permanently in another is called
emigration. And the person is called an immigrant.

29) He is a better worker than |I. Here 'better' is-
1)
Verb

2)
Noun

v 3)
adjective

4)
Adverb



74T : He is a better worker than |. I0CO Better 2@ Adjective.
LACI I 'better' ==L worker ==L quality 3z 1R At good W
comparative &7l | A1 @RRISTO 3 W10 M (A 'better' <=L Adjective.

30) 'Proclaim' means -

1)
Circulate

2)
Announce

3)
Pronounce

v 4)
Declare

74T : "Proclaim"” means : declare.

Proclaim *Ri03 @ . Ie]d, 61K 1, ABTRO =1, A BT, S S1RF <1, IBER
(TAT, QAT T AAPSIR A6 BT, FRPIROI T BT |

declare ™3 QR . (T, (IEAT BT, QR <1, TSR AR 397 5791 Ko (raa,
O BT, 8 AT, 1T

31) Choose the correct sentence-

1)
Death is preferable than dishonour.

2)
Death is preferable then dishonor

3)
Death is more preferable then dishonor.

v 4) Death is preferable to dishonor.

I : the correct sentence - - Death is preferable to dishonor.
Preferable - <=0 W30 comparative word R4 U< 2" more' IR0 3 A1 UL T
PR Y TEdT IO 'then' QT XA 'to' IH|



32) Antonym of "Tedious' is-

1)
Boring

2)
Monotonous

3)
Tiresome

v 4)
Refreshing

4 : Antonym of "tedious" is : refreshing.

tedious ™ WY . 2, RAReP1, I8, TG |

refreshing =7 O . OGPRP, HERA!, FOGPIRP, I, FTBIIAN, TRIHM 7K PE AT |
ST ARG P (W@ tedious U7 antonym X2 refreshing.

33) The right Bangla translation of "He came off with flying colours"

v 1)
ST (STRRET ST eTy O6d T

2)
fofa Sws 3¢ fae acifecetd

3)
o ¢k fac f5fa Sre usieea

4)
5fd 72 f2b1w Rb1e uesfeEd

4T : "He came off with flying colours" I3 53 18T Siqam 0% - Rofd (N
SIPeT] ARG PR |
Come off with flying colours - 3 S RIGR 24331 SPeT; TG 3411 S]OA1R phrase

meaning KR () oM (TR SPeT; TG I AT S5 |

34) Which one is the correct form "Who gave you this pen"?

1)
By whom have you been given this pen?



2)
By whom was you given this pen?

3)
By Whom were you got this pen?

v 4)
By whom were you given this pen?

A : The correct form of "Who gave you this pen"? is - By whom were you
given this pen?

Interrogative active sentence 'who' 3T 8F A passive IR 3R O By whom ¥
IR QIR 9 A auxiliary verb + subject + verb 41 past participle + extension
IO 2 | 51 fRIEGERl, By whom were you given this pen? 5P|

35) (57 AFAGI AT I A R 5K TA| I FIP 3G IT 1A ?
1)
He talks like he knows everything.

v 2)
He talks as if he knew everything.

3)
He talks after knowing everything.

4)
He talks knowing everything

T = 77 QISR AT I 5 27 314 S I3 1199 32 % 192 - He talks as if he
knew everything

36) He said, "l have been working since sunrise." (Indirect speech).

v1)
He said he had been working since sunrise.

2)
He said that he has worked for sunrise.

3)
He said that he has been working since sunrise.



4)
none of these.

A : He said, "l have been working since sunrise" indirect speech is - He said
that he had been working since sunrise.

2CITT IPY0 Indirect FICO he said + that + | & he + present perfect continuous
@ past perfect continuous « I IO X | O fF7e TR (F) option 2 53|

37) The word 'Reproduction’ is-

1)
Adjective

2)
Verb

v 3)
Noun

4)
Adverb

4 : The word"reproduction" is - - - a noun.

Reproduction *™53 suffix 'tion' 2 3B e @ Wft noun | 9ZreT TGS T s
reproduction noun - I WY AP AT, SrgnId |

38) Fill in the blank: Between...... this is the greatest book I've ever read.

v 1)
You and me

2)
| and you.

3)
You' re and I'am

4)
You and |

A - Between, - this is the greatest book I've ever read. IR X[d3Id AJ you
and me.



Between \3 among 939 pronoun AT OIK objective 9 IKRK R | A4 -
between you and me, among us 39JT |

39) Fill in the blank : Frustration results...... violence.

1)
at

2)
with

3)
of

v 4)
in

AT : Frustration results - - - - violence. IR X[d31CF in 01|
@1 PR #RRoce 31 T 09 Wy 7 207 W result in IRTO |

40) AR (T 41T SRS 19 3R -

1)
It is easy to find out faults of others.

v 2)
It is easy to find fault with others.

3)
It is easy to find out faults with others.

4)
none of these.

AT : TAAN (T <97 512 - 9 3RS A - - It is easy to Find Fault with others.
AR (T 431 A "To find fault with others' phrase 0 I20 2 | 501 TAR GTF T
SRS - 9 3@ 2 - It is easy to Find Fault with others.

41) F(x) = (x-1)2 X1, F (5) @97

1)
36



v 2)
16

I : F(x) = (x-1)2
F(5) = (5-1)?
=42

=16

42) @0¢ TITT ABTL el R PR *¥ROPHT q @51 NG | ST PO SRR [ P o1
20 Ol Ho 7J?

1)
¢00 BT

2)
@&o BT

3)
8¢o OIdT

v 4)
800 BT3P

AT 2 A% SIS RPTFET (500 + Q) AT 509 TRPT A&
0% oo ﬁ@m (00 - 0) A bo ingal

9% S RETIE €0 TIPT XA

20% HRHG RFTF (bo x @O¢) /504 = 800 T

43) (Y19 \3 FPI WA WIATO » :8 | (AP AT 0 BT A FHA AR PO ?
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Yo

AT = (T AR,

(TP \3 FH WL TGO » : 8 | (AT AR »0 BT |
¥R, T3 W = 'F T

AFHCO,

»O/P = /8

T, T = (»0*8)/>

A, T =80

SO, T4 R = 80 BT |

44) p™ IO P [/M?
1)
p @ m a3 5P

v 2)
m G p R 5P

3)
p, M a7 51

4)
p @ m 93 e

I : pM @ p YT 3PP m ( p to the power m) - GO I AR | M FRYP p 99
ST p™ T T | @A, IRXXIXXR = 7| R logp™ AR p @& log a3 ffG 37 20

45) a+b =11, a-b = 7 X ab = 39?
1)
15

2)
16

3)
12



v 4)
18

AT : CROTT TG,
a+b=119<Ra-b=7
W SN,

ab = (a + b/2)?2 - (a - b/2)?2
= (11/2)2- (7/2)?

= 121/4 - 49/4
=121 - 49/4
=72/4

=18

46) P, ¥ '\3 57 QA I B d00 DI a\ammﬁaﬁﬁ\eﬂmaﬂam@a@ﬂ@o 8 b A
O P PO TTOIRXT AT ?
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80
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200
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GO0
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RO

AT : F, U \3 57 I FALA TAANTO © -8 b |
3, 4,57 I TR TGO QST = (0+ 8 + br) = O
SO, P AT = (P IR VIS / AGATOTAI B ) X (G TG = (0/5€)X 00 = 380
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AT : A3 GIRIOI SLRT G 2, 97 S 1T AR AR G S @R
S, O 9 AT X

0,Y AT ATYPT O

Y,50 9 ATAPT 8

P A [0 YR 7or,
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48) 5¢ T (A (@A PSR 1P TORIEXT FIAS 20 fd 0T, 0 A 20 T @ 2T IS
O FACO 2RE?

1)
8¢

2)
30

3)
MG

v 4)
0o

I 2 H¢ TCAR PR FTS FACO AT V*R0 = wo g
5@ BER AT = vo i

S T ST = d&*vo

20 TR 05T = 5&*v0/30 = 8¢ fd
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AT : QU (WD PAOH TG FLAT FIGTT TET, O AP 5.8, P00 X |
@,b\35¢ K TT.B8 = D30 |
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50) ¢oo TP 8 2K 3 W% W00 TP ¢ IRRA 5 AP €00 DI A 34 IR PO?
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YT 2 ST GFLA, |= Pnr
=@000x8=000r

AW, |= pnr
=Y00OXE=\0000 r

IHCO, R000r + VO0Or = @00
gooor = ¢oo

r= €oox>00/¢000=50%

51) p>2 \3 g>- 1 e At @10 svay 5703 21?2
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pg > -2
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-p<2q
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pg <-2

4)
-p > 2q



AT : P> O 4R p = do

q> - > oA R q = —1/2
WP () pq = S0x(—dR)=—¢
T - 3 (AP (26

TR (4) (T, -50, 3q=3%(—=D/R)=->
R, -p < 2q

52) 2913 T F1( 5T fA’ $Pd TR A5 2A1PT T @O |
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QI
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QU

AN : T IR QI AT =D
TR ST =P + O

IO, (T + O} - P =0

A, P4+ -P =0V

A, 3P =@

A, T =Y

SO QT SR Y,

TR SRATM W + 5 =9
BGA3 Y \3 24
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AN = ICHCAL CHAL CFAP = HY00
O13 IR C7§ = 80(I5THeT )
QIR ISCHCA ARSI = (7 + o)
=3*vo

=JV0|
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2)
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JTET9 . Y1 AT RO 00 ATHIP QLD b1 AT |

AT . OB AR WP AT AT |

AT . JC @A TYT OB I |
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AT : 4R, TR SFCS AL {5 = 500%

9F IR S¢% QG TR CTF ETFHAT T = (300 + 5&)% = 55¢%
AT, SICAI CTPHALR S5¢% = YO

SPOAIR, " " 500% = (U®OO/>¢&&)*>00

= Y000

56) A AN GO ¢ I2EE (R0 | TR I (@R IIGR 8 BT | 8 I2F A (R ITH I D |
JIGHICA AR A 97?7
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8¢
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@
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VYV
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AT : 8 N (RCETR AT 5 T (RCER TGH I (5 - 8) = 4
R TS (G ITGH 8 BT Ax8 = AN WA (WP ¢ IR (@6 XA AR IGTF ITA T W + € =
OV

57) GPTATD SpHOd SIUM?
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q/0Y
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55/8¢
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AT 2 8/24 = 0.58b>¢ [ b 5pHod |
/0 = 055888



Y)/8¢ = 0.38888
D = 03N

58) v TGN 97T IR AT FO?
1)
yo¢ TG

2)
y3¢ fO5

v 3)
¢ Fofsy

4)
o¢ fot

T :if the sum of two angles is 90 degree, it is called complementary angle.
I[P @17 = 500-ve0 = 3¢0

59) fIgeR @ PTd /0 JUIHT R A1d Lo fagais_
1)
a1 g
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R fage
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AR oo
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SRR fger

AT : AR faes : - @ fagrer 70 IR 5Tad O SaiR e a6 | ez faerer @
T 70 JILTHT 21 ST

N e, @ frgrer foaft I3 “RFIR 5TH1d O TR [gs I | TR fegor fodlt
HILTAT 2RI ST

R faow - @ faorer f5af IR 21" TsEd O Rk Ao I |

ST fawer BL@ : Right Triangle) 360 d 13Th e Q@RI TR @@IE 9P
T ST AT 0° |




60) V2 fTgrer AP @17 I 2T @R FHasd W3R 0T @19 M T @R G Vo fG37 T
R TR @10 F6 [os?

1)
Yo

2)
o

3)
8¢

v 4)
Vo

Az 2nd = X

1st = 3x

3rd = x + 30
According to question
X+ 3x+ x+ 30 =180
# 5x + 30 = 180

# 5x =180 - 30

# 5x =150
# x = 150/5
# x =30

61) GPIAT IRFATCH], TR, FRITTAIRR SIS AR ZZ?
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BG
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